(Loe.

Sl .

2 mm
11121 »

L

62 mm

51 min

<> 100 mm

’<2 min ‘ S e ——————

I v

S .
Ve (2 V= ()55 100) = 1036 xi0” "
— e i = = Wf‘lq
Z=1(2)=6"  Z\[= 6336x10 Tl
Votpe 20 Vo= (50 62 10) = 1551 x0" .




PROZ. 9.((] cont,

= m

Z, = 2+ 35(5() = 22"
_— : : o
Vo = 4595 xio” ™

VoLUpe 3+ V= (75+5ﬁ~(2—X[00)/{2_>
%
Vs =096 xyp’ “M

P

Zy= 12+ 2(45 ¢33 2) = 36
— : ]
Z,\s = 5,904 x(0" "

. N
VoLuke 4« Vy ==+ (45 Mloo wze‘)/za) == 11520

1

Ze =100~ 5(45) = 55" 2 Vg = -L515 0" ™

)

'Z“ B _@3% %10 +4.5%5 X0 594 ¥0¢ - (55 %%
Wit 'rc(os £ (.55] x(0¥ + (096 ¥ © — (752 xlo*

_— 4
L.972 xo |




